il

=)
]

{

S —
=mlts
N
R
1/10 SCALE EP




COEFITERR/CH—FYNEHELKROIEE.

HICEDHSICEVNE T CDF YNNI D—ILRF vV EF Y X—H—THBIATEDEEEE-HEAR/CH—TT,
AHEAEICIE S IELVMENL - B2 ETZL TR N s CTHFEICKLB T EDHEE T

Thank you for purchasing this Yokomo product. This high performance competition kit has been proudly manufactured by Yokomo - World Champion R/C car manufacturer.
Proper assembly of this product will provide fun, safe enjoyment.

R/C h—ZRZICHEULATIALHOD FEHIR

BFER(RZLELIT) b - E1TT DRI B FREEBDOH DI ERN B2 ZHEEL TR,

DR

OWNRDODVDBFTIFEHIITHEWVWT FEW NS ILEBREERFHA
T% FERICBIRTY

@A DHIICHTABZEBENSD L F—FREHBR. A EMRBIE
ENGoiBalE. ITE 77— ERAFFTCEHLEaDE TS
(AN

OHI DFIICHABZRET Coidt 2RDFRNZE DT EMEN
TSRO HSRE T,

QI I TRDRIF LB ILEDNBEICEDET . REDRICUHTE
ENBICEEIEEFERALTTIEWV. X hvy—F 1 TJ7F%ER
IRIRFBERZHVEITDTIERELTTEL,

OIBRICIIFRLERMZFERLCVE T WHEIN IS NcRE/ \—Y
ZRITvIDHHEEFEIDNBEELLDET . T HZLFEWLELD
[TERULTREL,

OTSAT AV I IN—YIEEZYIMT DIRIF. U LI BR@mDIRIE
OB DD TERLTREL,

@ EIER SR ERENERIF R D EF A L—RICENET DK SICHHIIT
THREL,

@R I—RERENVICEED TTIEW BERER D P EITIREIC
O—RHEM T DEBIRT I o X, ERFRIGHERICEFINTLIEL
EVaI—NEEDRBN®, MAEZE + 2 [CREBHFBEWEED HDF
ED

OLEL L DR EZT DL REMME N UILDETIERED T
PNCRBERIELEDBEDHDET,

OZEEF. ARICATDENT EZHERL BMRDRBVE TIToT
TEL,

ETOER

@I IERR/CH—(FHHEADA. FHERAOKkMZMZ HiENZAE—R
HEDETIVBBDET . IV—ILEFOTCREFIBAP.R/CH—
AY—FyhTESETTEL,

O NEE, AEDADKRITIED K DIFZFI ClIHET ICES BEWNT
TELY,

OR/CH—[FEREZFIAT DA ASH DS T IV TREDSZEER
ETDENBOF T HVEFTPERIEES, HRBDEIFLL. E
EYDIEVGEFICESETTEL,

O@FEEICR/CH—ZESETLBADVDBEIF BEHELESIEL
KT FRHERRLE T . REZEENH TTREL,

OR/CH—FKEHWVNEFT . NDOE®. KIcFDDH DB CTESE
BER/CANDIENZD . RET BERHHDET

OR/CH—DERENERS . F YV PNILN 4 VIELIFBEE CRDE
T N\yTFU—ZEFEUIRBERT I DT, EEERD (CFZAn
BFLTTEL,

@EITHDR/CH—FBEHNERICIEDEDSHDF T . BRTT D

SAREHHIBZESVTHS X YT F IV RAEEZLTREL,

ESESFIE

OF A PHEEI BKIIC. ADLICR/CH—ZEEXT .

@RE—RIVRO—5DRA vFHOFFICIEOTVDEZERL TH
5. E—5—&N\vFU—ZEERLET.

ORXMEHDT VT FZHIEL A vFZONICLET . (XSHEDEE
DR TVBEBIRTY . BICEEDEWMRETHRALTTE
L))

@FEKDRAAyFZONICLET .

ETRTFIR
ORE—RIVRO—5ORAyFEOFFICLET.
@I FU—DEEENLET.

@RIEMDRA YFEOFFICL. PV T ERDET

INyFU—DHDbIREL

U\ FU—ICRBOHBEEICESEEALTTFEL,)

O/\yFU—ERET B BECHAZ T LD ENE LIS
TIFoT TV X BB HSF CORBERIFT TS,

0/\yFU—DRERIABRRERICHEL T TSV REROR
BEEE CBRET - BEDEAEFRNT BRBMNSGDE
., )\ U—BENS0EEMR 57 EEHIELTTE .,

QOETED/I\WTFU—FBLEREICIEDE T  BRERT /v
U—ZEHDEICIEDFET DT SHEEEBVTHSRELTT
EW R ETEDIN\yFU—(3OY T3V BT ZEICLoT,
PEREESS B BN HRE T,

OB T/ T U—ld—RD IS E—RBICRTTIC. BFHTH
EHERAOEIGECIRTTTE,

E—5—0HbRL

(E—9—(CHBOHBABCEDHERALTTEL.)

@7.2VDIN\yTU—TE—9—DhSELZETDEBRTT . E—
H—AERERIEUBRIROHITBHEISNFIDT. HLE—
F—DIV—04 V% d BEF. E—F—ZLoNDEEL3~5V
ZETHSELLTTREL,

Q@E—F—[FEHNLEAYTF I ADBETT . H{LTHERE—R
ML oD ETRENELEDE T EFNICIU—=2T
UIeh IS UDRID CEESIRT DEDAYTF I AZLTTE
L

Q@E—F—DMHEEICESIEFPHEBRLT TSV FVHHRET
BOVEE—Y—DMHEREZ T D ICHRBHREVEFTHL HDR/C
XNEETFERCHEDFET

QO ETERDE—Y—RFHFREICEVEREICKEDET . ERETIDE
E—5—%EBHIEICHEDET DT SHBBEBLTHSETL
TUTTRELY,

PRECAUTIONS FOR SAFE ENJOYMENT OF YOUR R/C CAR

For children under the age of 13, parental guidance is recommended when running.

ASSEMBLY PRECAUTIONS

@®Do not assemble around small children. The parts can be
dangerous if accidentally swallowed.

@Check the contents carefully before assembly. Please contact
Customer Support if you happen to notice any defective or
missing items.

@You will find the assembly process much easier by carefully
reading through the manual, and familiarizing yourself with the
instructions.

@®Many different tools are required during assembly. For safety
purposes, please use suitable tools. Exercise extra caution
when using a sharp tool such as a hobby knife.

@Many different materials are used for the parts. Use extra care
when handling parts with sharp edges, such as machined
metal parts.

@When cutting plastic parts, watch for any flying parts.

@Try to assemble any rotating parts or drivetrain parts as
smooth as possible.

@®Bundle wires neatly away from the ground or any moving
drivetrain components. Make sure that all wires are properly
connected to prevent shorting.

@Unnecessary modifications may be unsafe and hinder
performance.

@Always paint in a well ventilated area away from flames.

PRECAUTIONS BEFORE RUNNING

@Yokomo R/C cars are built for competition use, and some
models may exceed speeds of 40km per hour. Practice
common sense and run the car in open safe places, or R/C
car tracks.

@®Do not run the car on public roads with high amounts of
traffic, or in areas that may cause an inconvenience to people
in that area.

@®R/C cars are controlled using a radio frequency. In a worst-
case scenario. radio interferences may cause loss of control.

@If others near you are running R/C cars, confirm that they are
not running on the same frequency.

@®R/C cars do not like water. Avoid running on rainy days, or
areas with water puddles. Exposure of the electronics to

water may cause loss of control or damage to the electronics.

@The drivetrain of an R/C car consists of many moving parts
like gears, belts, shafts, and tires. Avoid touching these areas
when the battery is connected.

@®Many parts of an R/C car will become hot after running. Allow
the parts to sufficiently cool before conducting any
maintenance.

BEGINNING A RUN

(MPlace the R/C car on a stand so the wheels are off the
ground.

@Confirm that the speed controller switch is OFF, and connect
the motor and battery.

(®Extend the transmitter antenna and turn the switch ON. (It is
unsafe to use a transmitter with low voltage. Make sure that
the transmitter batteries are good before running)

@Turn the speed controller switch ON.

FINISHING A RUN

@Turn the speed controller switch OFF.
@Disconnect the battery.
@Turn the transmitter switch OFF, and retract the antenna.

BATTERY USAGE

(Carefully read the instruction included with the batteries.)

@When charging batteries, make sure that the surrounding area
is void of anything highly flammable. Also avoid charging in
high-temperature locations.

@®\When charging batteries, frequently monitor the charging it
catch on fire. If the battery reaches 50 degrees Celcius or
more, stop charging.

@Batteries will become hot after running. Continuous use of the
battery pack may result in damage to the cells. Allow the
battery too cool down before re-charging. Using a battery
conditioner after running may prolong the life and performance
of the battery.

@Please do not discard old battery packs in the trash. Although
inconvenient, please locate a battery disposal center.

MOTOR USAGE

(Carefully read the instruction included with the motor.)

@Connecting a 7.2V battery directly to the motor can be very
dangerous. This may cause the internal parts of the motor to
break apart, causing some parts to fly out of the motor. To
break-in the motor, safely secure the motor and run the motor
at about 3-5V.

@®Motors require periodic maintenance. Slower speeds and
decreasend run times may indicate a worn-out motor.
Periodically clean the motor and change the brushes when
needed.

@Choose a gear ratio that matches the power characteristics
of the motor. Using a gear ratio unsuited to the characteris-
tics of the motor will not only prevent the motor from perform-
ing at its optimum, but may even cause damage to the other
electronics.

@Motors will generally become very hot after running. Continu-
ous running will reduce the life of the motor. Allow the motor
to sufficiently cool between each run.



~ (#8531 TICKE M) )
ACCESSORIES AND TOOLS NEEDED FOR [DRIFT PACKAGE DPR] ASSEMBLY

B ETOAICAICEELKOTELY 1 B JzHAE75IA i
ADDITIONAL ITEMS REQUIRED FOR USE ASSEMBLING TOOLS REQUIRED
(NOT INCLUDED IN KIT) (NOT INCLUDED IN KIT)
@ 2FvoxriTOR (1H9—FKR 172TEH) $S 4 N— \
TNO CHANNEL R/C SURFACE RADIO SYSTEM : Egz;u /D\RIVE(I;%S,III]AL)L & LARGE)

AND ELECTRONIC SPEED CONTROL

@ ETRANYINRNyT— SOARITF
PACK BATTERY NEEDLE NOSE PLIERS

® ETRANY T —FRESR
BATTERY CHARGER = wi—

® ETHE—4%— SIDE CUTTER
MOTOR

@ FAVEZIAKRAIL(ZAYVHFY FIFE)
Tl !!_ES &“ '_!!EEL L ¢© INY S

® ETARTA—(RT 4 —FFy FIFE) "@ SCISSORS
BODY

® RT4—FERHS— (777 S\ A3~

BODY SPRAY PAINT HOBBY KNIFE

B Xy FA>DTWSIE R
TOOLS (INCLUDED)
NALVTF
ALLEN WRENCH
(1.5mMm&2 .0mm)

4 N\
IDRIFT PACKAGE DPRIO#EZTHRICHEBIECSAIC ST—T1 ) B—2NY LT
1SAMZER<EZERUBHDOIRBICED THREICHHLEIZTTT TURNBUCLE WRENCH
For assembly, follow the figures and the instructions closely
so that your [DRIFT PACKAGE DPR] will perform at its best!! -,I‘—u$ uyuzc
T WRENCH

\ S 2015-03-03 [ Page-3 | g /




EE

M-y

a
ey

BRI RN 4=

TR !

FHNELVE

FE ) — b &YTHATIUL) ISR ENHY £T
DTHMFZIFEFELTTSL,

M3x8MLE" 2

MEIEE !

.-A 1
[+ 1L ) T
BES1s £ =
4 2 >
ﬁwvé_m.__m = >
K%E16% = e
u o, Bk 5
Nr#,ﬁ_ \ D £
RS £
¢ S ¥« 2
lv)_ W ~
s/T\m_+m\0)
éﬂJO"mmm
.M?&. ey
SN %e
RS L 1YS @
KOyl 2\ _ <
YN A Z w3 o |F 0 B
By Dlas BE 1S = <
S hjunr | Y B > I o S
! &< B & [E 0
FoK VF g = .
Lagl b
~anl L8
#ﬂﬁ_nz \
\ < -
L L M
A A .
| L o AN N
E L w ﬁ_\ _,_\ o3
| A =
~— X > A | I~ I~k g
u = -~ X_” D > By B NI
g8 o~ N bk g 2 °
] - o |+ ~X D) L ¥ )] AY
.w X X > 1 A 1 P < A = S
SEEI S ] %z
o - x R )
| L o _ H
2% ¥ X X % % — %
| | | | | |
[m — — _—
MWWMHU

(

2O, F=YNYDNLYF +FLVF )




[ £—©@ DRWB )

SN

—x1 Yoo xRy

-—x1
782 kT (Assy

(mm  -——-x3 M2 x4 FREX

———=X2 oyvy

 EEPI PR ERT b, |
OYrDOYIOxARA/IN—Y]

FEITER !

AEEE !

¥ I DPRAHAL !

[VUw RPORIVA/IN=Y]

[ M —x2
URVE 2 I 2

E|ARRT ELTTERRE)
DEE S U/

M2Xx5 2yEVTER

1T0X13Y4

10X15R7Yv4y

10x154" 7Yv%°

¥ I DRAFAL !

AR -1 34 SR FDFFRICHAIOH AN
RRFYHYRIZEARLGNTTEL,

J

Vv ESaqo o)

| Page-§ |

G DI AFHRAL 1)

G MDY AIFHRAE 1)
B




[ £—Q DKWB ] \

M2 .6 x6 ME X @yy#lf)

M3x8 MEX

M3Xx10 MEX
M3 x6 RE2UAY FER
M3x12 REUAy FER

M3x4 £y bRIYa—

ﬂﬁ;@
/\
60 & -—x1
RIN—F¥ N\T

82T R/IN—F¥

— —x1 —x1
NITEY oYy

o] 5o
ZA=D o G AT S Pl

[

WFPA2 Ty bxT b

O.

oYy (¢7.5)

-—X2
FS14 7%y

C—) ——-x2 NTEVER)

ZOM. SYYIVUT -, Yvy—IYTU—8E
E—H—-VIVER=-Z

@ —X1 5X 8L
@ -—X2 8X 11V L
-—X3 5X10R7YVYT

8X14RTYLY

© )

M2. 6x6MLE" 2
L oMY L&HAT!

nmnf])-

M3x124° 5uAyh £ 2

GOlOREEI-AahERRAT])

3yvav-a%y7°

095" (¢17.6)]

(EyiAaE. 197 DIV ISIFHAL!)

M3x124° 4uAy b £ 2




M3x12%" JuAyb £ 2

82TAN - ¥

B 1 Q@21 1) IS ' - 47" ) ZEU T DR
HEOORORALIMNE>TINSEEHEE
L. (M3x6% oAb E°2) 4 RZEHFICHL
3D, LOMFIFTFEL,

AR ! OM2.6x6ME"2) IE. LoAYELHRAATTEL,

lll|||||>

M2. 6x6IILE" 2
Loy LERAL !

(¥DiyETEET HE!)

] O
¢
5x10A° 7Yv5° nY¥
el < »
@
g
G

(«‘ 705 ilnf:&mmj \

NREEICEDERFLAD! °
RO -7 ) ZEEY S (bybaya-) X

BMLLOTELLRISERELTF S,

(W BHIEDHITF MIRGEEFERALTT S, )

417" DY e oA
[FFED LS ICHAD!

| Page-7 |




E-4-V9uhA" -

M3x8IE' 3]

-4y MR Al . *"
O

M3x10ME" 2

| Page-8 |

M3x10ME" 2

—

EEPIZAED)

ANRN—FVvNTOBWN LA

<

» = lll?%"lllli///{

[17457" 9043t [0 E V(3] .
]

| (]

L/t

LI

XA Ty b T bEREA 5
(BohLOELE—FSA4Thy T
ZHLTHBLTTFELY, )

/\

P
el il

=

A
|.l‘{//(///¢
P

w'I///

L]

AIN—FXNTDRMNTEVUNRRZ S
BEBETUYAS Ty FSr T REDBL

<

E> %k

INTEUHRFOT MBS, @< TL

REBHGEEZESTTSL )

i E/!Z%'ﬁ 1
IS )

I
l |I|Fyi'/////

N

=
=

o

Ny

/




IDlmm —X2 M3x6 MEX

H)mm —x2 M3x8 MERX
(o —x2  M3x10 KsayKER

I]:'m X2 YusEy
O:@m] —-x3 Oy FIYER—L
@m@m —X2 16mm ZA—2NvsIL
QT3 T T

—X1 42mm Z—2Nv )L

-—X6 R—ILITY R¥vyvTF(S)

XIR—IVIY FF v v TRIRESENT(S) M) (L)DI3BEEH D

@ |:| -—X2 FILEHS5—
|——><2 RIS UIRA b

(0 o] o9

-—X1 RIS R=R

W39 (R)

O

toE—=)Y

AXx8RTYVY

e [ £—@ ORB ] N

16mmi-un" yoh
[F -BIoF 497" )] | [F - F497° (S)|

TEKOHIZG-on IR BA>TWET,
Oy FORSERBTIBHLEICSHATEL,

XEAT I —RICEYRESBEADETYT,

J

RALVTF

Pt 2. Omm

RBETHAL !




M3x10%" 4uAyh t° A

DN

lllll]ll.

Page-10

M3x6MLE" 2

Oy

7, J
7
\ﬁ

\

A" VIFVIE Ab




M3x10£" 5uAy " £ 2

M3x10%" suAyb E° 2
Wor—97" b2

RiEZE5 LEER !

3x8h" §uAyh £ R

S

(R Z5 LEERS

-
-

-—x1
0?2

-—X1
-—X1

(o —xa
s
)0

&!

X 4 a”\mv Zj ﬁ/
X3 ~ _ 0
; Y 3
L2 x A 5
«.;A < A A %/ » :_/ ._vnh-u.
—~ KX 2 A & S ~ * v N S
= 2 2 F 0 p n S x| i
._wAm o s o > .ﬂ i + vl o
.m © - © - ~ . N > o &
X X X X Ik s | < 1 o)
@ ™ () ® ™ A A B — ‘L Y
= = = = [N N X M L
© I
_ A
M
¥
\_/

A ThyTE#X5R

(
[Dmm] -—x1
H)mmm --X4

@mmm] -—-X2

F3

YT ENTELER)MRITHETHAMGHHL, £V

N

I, A URSATOY 7 bEHEMBBAL 10Ty b

f
A
v

\\§

4




SN

J ) 4 ,.‘4 \f\r\/\\“r S—— N \

-0 77 8-

M3x15 R2rvAy FER

M3X3 £y rXO1Ya—

m —-x1

el JAVE S S

Tyiy—
30T E

—Xx2
X1

FUoEYOMBEREL.

Ny SyvazdbeRay

512

TES

ANR—F Y OEIEIZH

ty hRYYa—%K
~Ny FER 2 KEXH

| Page-12 |




e [ 5O ONE ] N Y T
= = [ Foron -GV A E R 1) @ Y 33F S005

IDlm] %2 (i YF |33% s003, 748

M3x6 MEX  M3x8 KEvAy FER J K S [33% 5008, JR, KO, 7

RO ¢+ F-07) ICIFZEAA>TWET,

—x1 (et —xa CERICES A—N—[-BbE TERUF S,

M3X10 #REX(E) M3x10 #yEVHERGEEN)

Q]mmmm --x1 M2.6x10 2yEVTER
O:@mm —x1 Ay KT RR—L

0) $—RO=a— b5

— w S — O
O X2 Ty (R . W=k #-Y37" Uv8") DI I ;,Q
& F-y7yn o) [(E 2 BEABSh TLET L, (Bia8 & B Y) A,
2EOROAERALET, G-F 4279 DY E // G
G- 52907 ) DIFHRAALENEEK. 15X F IZhd 570K S BT

H—RTH Yk DHFRIZFOMEANTT S E R

Yy—YIY—RERFHELS, Oy FE
IV RR—IVIZIFORAATTEL,

H—Rik—>TL— b

- x1 [: <ZZ;EZ>-X1

B k— 7 v 8— (L) H—Rk— ) LY

‘E 77777 =0 *”
—X1 0 —X1
I:I\ M "j'_

Kk—o 2T /;j

FE!

OY—RK—2Z2BEYTHERIF, FERAYTHIH—RICHRE
SATVWRRIDEERS A TOEREFERALTTFEL,
(Exvy MIBDOERIE, FaM2. 6x1059E° ¥5° £ A,
M3x1049t™ ¥5" £° A(BE/N) . M3X10FA°E° 2D 3FEFETY, )

@ (- #-y07) BT BENZB T, H—KRD
—a—FSLEHLTREL,
FELLETOREY FOFBAZEEZET L, )

@% v MIRD G-# #-v07) FIBEABS L TVET,
BT OERIZHBY—k (A —H—) (<& o Ferh—>
EBEVFEL, i )
AEDENS—Rk— 85 &4 —RICREL

ArEHY ., BEORRECEYET, ) | Page-13 |

M3x8&" 4uAay b " 2

- 427" b-h




( tmeoms) ) CEmmme

Gmmm—-m M3x10 RevAy FER

M —x4 M3x4 £y kRY1)a—

@:7” --Xx4 F7ILEH5—(0.5mm)

@7J:| —x4  FALIHS5—(1.0mm)
@W[I —x4 FILEHF—(1.5mm)
@7D —x4  FLIH5—(2.0mm)

A7-L7yN -Ay b IVF

ﬂuﬂg] —X2 LavhFxeyITR—IL A7-A791 -t | “6' ~_—
A7-LT9n" — (R) ASSY [74355-(0.5 & 1.0 & 1. 5mm)| Ir;“‘«ta /’/’
n ) S s z
-—X2 A7—LT7 vIN—EY \i/’ “”. X ',\-ﬂ"';‘
& o\ LS AN >
( D PR Nz & 4 \ o
—X2 AF7—LT7y/—Oy K 2 \"'y I" ' /\‘
\\\‘)t f' '.Ps S
RN b

O :
358 DR
a“\i 72
X

A
)

llllllll>

\_ OHOREHALET, %

M3x10%" 5uAyb £ 2

| Page-14 |




-

TLREEREES !

R
N
-
[
o
+&
0
-’
D
-
<
)
m
D

8
#
]
#
£
&

M TES 1)

~

(0 Rt & %t HI

a7
m@m.\@

i
0)

AW

il

2
D)

AF-4a7-4E" Y

=
Ny

L
))

A7-Ln7 (L) ASSY

EE

LK

[7%345-(0.5 & 1.5 & 2. Omm)

&!

Dy — =2

(D —x2

Oﬂ]mm --X2

G] - X4
©

-—x2

-—X2

-—x1

I

™
3
g %
3 2|y
£ 2|
= |1
T (4
=
P~
<
H
[N \ b
um %_lpw 2 s
~ = o s H R A
RO =2 ] 4 5 2y Y [ ]a
g T < | i D
XK - = ) o
~x 2E Lo 9] of
P W o o
._,Wssabﬁ N 3 a8 7 A/ Z
X X N M + X | e A
mw ® ™ m X X A ! [N Ne o
= s N $F % v < N
@ o
L
_ N
X
|
|
—/

orJ

c

0y M9 b

FEl

FE!

Page-15




[ &£—B DAT ]
O:@m —Xx2 Ow KTy RR—L
C]]ﬂm] - X4 FUTEUR—IL

RFFITIavy

—X2 5X10R7YvY

-—X2 10xX15R7Yvy

]

For narrow 5lmm 55 [2]

— %2 78y raAZNA—HLT v T (ERF)

mununn'l-}-HI H H;]

>> | (_ﬁ—@ DRB ] <<

(Ev=JIcizoad!) (REREIS))

BEIER!
(CHEofbiEHRAL )

FE!'-aZRA—H LY T FOEVIZEFRT
G MUM VR EEBBERICLTT SN,

-—X2 XA —HILS v T kGERE)

(mm

-—X4 M2x5 FvvFRH1)a—

C—) —x4 RAILNTEY

|
> Zot, YaIYRIURE 1y < L5
4 [ %—@ ORS ) N\

@ — X4 RAINT

) )




f [ %—@ g)mg ] \ (BRRIBFER IS TVET )
30mmy-un" yon
G]nmm -—x4 M3X10 REvAY FER
fxz womror
O:@]mm -—X2 By RITY RR—L
mﬂ:@] -—X2 vaviFvyITR—L
QST --x2 30m s— sty
(@) (@)
o~ & 0
©) ©)
oo 00

> — X1 VF7oavyBaI— /<
[ 5@ DBED ) N

—X4 R—LTY FxvvTF(M)

(2&y FEYET.)

M3x1049E°¥9"E° 2

2=13—HLo v T LI TH G
ATV ANBELGRIZTOTTEL,

O:@mm —X%2 0y FILr FR—ILGRA)

LT ™
,,.!‘!\\_VQ(Z!

-—X2 YXNnTFxv)T7(L&R)

RALUTF ] M3x2. 5y F2%Y)1- E
S>HY LHAD!

|:|——X4 6X10R7Yy

BXTON 7U57 O ism @ )

FE!-MANTRIREBT ISV TYREZESTTEL,
| Page-17 | ST B BAGEDERCTNES

EY S VICEOHRAL!




©

N4

W

(o=

&

/

/

EE

[ E

_u,l
533

[ayzob &

(it

[M2. 6x559E" ¥4 £ ]

@HBZEE )

T99-4A7-LE" Y

(I E@L A BT TET, )

3 @
>
]
|-
< |48
B[4
=||u
o[
allc
™
”~
~
>
=)
|
‘\z \ o T
H.m 2 #_;E %a@
AN (aV) 4 n/ N o
n/_o.o X.p_m V_AD__ﬂt A..IT‘H _H_
V_Ay_u._m_rAU_m 4 10
]_h.> _./__H_.ru.xz __r W_ _,_/
| ,) ~
L] D | | X EN X —
wewx A Wh) E 7% EN /7
r @ m o) o [
A X + o
S a ' N B +
= N . = [qV]
X +
@ I | o
g X % | |
— | !

P

M3x8 MEX

[ -2

M4 x8 v kXY

an
HRIY Y hiRk—

@
Oy

5 AL IEDHAG 1)

(c

O

\\ ww.,..\y “

) -
Q //
L.
RO+2 DZIE !
O7YR7-hAN" -

JY@In7427-4 (L) Assy
REIER!
A9V

EE

mEC

124

[Z]
<<
=
=
T
[
=
n~
=1
=
=
-

=

=

=3

Page-18




7 [ 5@ ORS ] N\ ey rEIET,)

o
--X8
——x4 S5 ©)
EX k> GD —
F//—%
—x4 @ - x4 \A)/
oYy (In—) oOYvihs—

O

x4

Fry TR FrvTFy bk

o xvys

U ia

09y (¢12)

" x4 —X4

BUR—T UK

—X4 oN2F(p12)

FUvRbF b

ATV ThyT

a E'S\é <.
EhSES!

3

And!

%

-—x4

Y oE—

XA

N
\

?
£
S
e N : sonf)p '
—X2 RIY G G)—) L3 = 3
. 9 .
-—X2 RTYvg«Ta—) RS QKRR
s
=
KRR EIALN K
100%20%2 %20 %20%20%8( %!
905 00%20%20%26%2¢%0¢' (09"
s 1l
5 AR R
-—x4 o0yvT (B RRRREIERIERE

_R2E#6 2mm (UK

( 7))L ]
FYI—AA #8350 —x1

AR _
B R—ATERT 501 LSBT (T—) & P ieme ' ?) @EezED

FEALTESLY, CEXTT Y% X))
Oy TFBEEFFVNR—AIZIFFERATEEEA, ) page_lg




Z oﬁ\w\wf/
; O NG\

70 )

R /

@ﬁ%&%
Y D2

o
"

\cpay

W /A

NPT &)
\\“.\hﬂ&xn‘\ \1\‘\%
.

e

—

S

=

(VT @EEDHB)

099" (R)

PR ECICEL ) |

(Brii=ASSYRTYLI-TY—))

P/ /»N . .
/.mm\\. M( L
T

&

Nzt

U

(ourvy B %FIEDHD)
X

7o rnmE(TU—2) )

(Fvii—AsSSYRFYvH-110-))

| Page-20 |




NW

)

146
/8,

W)

\
)
YN

&

7,

X\, A
97 88
AT %
QLAY
NS

Oy UN -

7R L
§<ﬂfk,
Y/

Q
\
7

2
A
Y/

7

ZEE!
Y787 4-%" 2N

=

M3x8&" 4uAy b E* 2

,Vﬁﬂ"%
»-——)

¥

/ ?N..s
o\\ﬁ;‘w L‘\\;

7 0/% :
) w\ K3

e
-) <
i [
H||.>
U|[i=
el 1 B2
(¥
Z)a

™~

Ve

V/'5
)

\
LS/

-:ﬂ

ni
Rt B REE

K- OAB )

(

.

f

M3x10MER

-—X7

M3x15MEX

—X2

M3x8 RaZUAy FER

-—X2

Qi

Ty e—

@ %2

OOOOOOOOOOOOOOD

RR b

22 bRT 44—

-—X2

OOOOOOOOOOOOOOOOOOD

L
e

|

D

|
£z Y
X v
¥ A
| N
s ¥
ik |
¥k ~
(BN ik

-—X2

(% -—X4 R

J—FEY

== —x10

282 kN2—

-—X1

J

SwT 275

mET-7 145
FA40OVA

Z 0t

L




s
Y o 2
W 8
s 2 &
- <
SN\ S _ et (SR
(7 _ o a_.J a =
N/ N BER
l_} g\_ A ﬁ?/ L —j#ﬂ
1 = / -’
Y 6/ Frogps
g YNNI N L ND
o "__n,,.n.z L
N SRD AU
2O DMiE
>¢E_ e
AN
PO T
lwg bl
M-
oM_JM_._\ = le o\n%,
A2 S
M_.___.m_ D
i MHL S
s
= Re2a% 0
£ \- . Hﬁ.mmﬂm oA AV ”
== 2B E 7 NN ENTiL
SO EREE ..\.\&M
y, QNN __M.MW_# Iku \ @_bo ~
/7 /ljjj sJ—P .A ) ‘.,&\m ’.
RN Yo Nk A T /‘/os\s &
BTC S Ky — . 9 { )
._) — a
REEE £ N (S
RRRE© o~
“ :
#
-
i
D
P ﬁ
F|IN h
g b
& %

T
)
.m
=
8 /
_ o el
< o Nl
2 # | 3
3 > Ia%e
£ U -5
ﬂd&_dm Wﬁﬁ
Mu S
we HyE
Lz 27
HIN 0
£ID o, o
Iy gut?
NG naL¥
=3V
k4T R
R MY
WRRY] Do
A+ g
0% BESS
Y= 5
K )
#




5. R3EID
X3 04L

Th

ABT &L,

—
—

A&

LohYabhtd!

54¥905" R2)

S U

LY,
LTWFEY,

BELES, 1) ]

(I RxH+ R CaI

[YOKOMO] B =

EMHRET,

-

fRi1E&H LT

HRALBRITH A VRAR—Y— [T ILFEZE

|
IZE%9 5

U EITFELTTFSL, )
0 | 7A

z
B
N

EE!
HAETSL,

EE!

—

AETFSL.)

#
&

AN, BAVEEFEIT
54v))” R2)

Al

—
—

[ E

-~

=23

15X DR A¥IE [ZR-DRO4] €0

(SN

/)

(INK &

1

Mﬂﬁm

7\

‘a'

AV

L/ i

W)\

P)
N \\ﬁ
IQ\ _~w..>~.
2

Ta,) (Gg

AR

=
=

FE!'—Fv b

Page-23

e

pA=DAX ||

CH

DL

€3

CEITESD)

€6t Wivedn Ay

2 A X DFEIL




-

Uy —VITEE,

-

LoMY ERHRAAFT,

Ny TY—TL— b ERESEEHNS R

NYTY—ZFLFAFDESI

RAETZL.

—
—

FETOFY X, Ay FU—FEENT
BYEHADTHIE

{RFL—FRyFY—

ABETEL,

IE

ART—2yTY—)

S

ABT &L,

Alig 2

a/\\WN

WA-BEHERLTHD

-

DEULOAFERTHEHFTEL

-

BE<BYFEITDOTRERI

SETTFELY,
O EFHEULDRAE—FAHFET, BTHENREE

1TIEE—5—I

E
%
z

BRERDHTALETELRELATI!




(BETs—r7r—=zx1y7)—oma)

17
\f A\ y
U ,. v N
B4 \\
d./

», 4 , q 2 ” / r - \\ . Q
\ \

ABTEL.

Al

ansa—tr—23v57y—)

OEECITT 5,

/ O
K A

NN

\H///

N




i
IR HINGP
s &/DMP

2\ - 141

‘1‘ ‘l-9
S5 o
/Z?Azf)zo D-155-23

=)/ LC-206SHS

o Tc-61310

/
P =0 s
\,\\\Nﬁ’ R
"") SD-6444

LN 3;&7?850
;

1C-$100

SD-303R  SD-50IRY

1501655

7

ii?%%I3S

[C-206M
[C-BH310

P <
e )
BD-cho;Bs&%%RB-zoe

. 102505~ 2C-A2515 15 e
- i 1-537 %,
10553 0 10510 s D113 %
N | l

IS-0167] 4 ys-88C

;;ai'
6§%}C-2063HS

~-PG- 4830

[C-F36

>
&0-5103

ﬁ;gg”YS-ﬁSSS-I
~—

D-1196
D-119Y



10-A3630~gy
BB-84-2

_ 5-1816
10206, 10206 =
& 1c-o0emy 1o 206

RC-313S
%zs-ow

10-F315+,

==
(N.I==-;_ \

5 8
&g
its g il 8 -206MH
q i D-152-0
I ST
[C-A3605 BB- 15107

AR AN o
= e
SD-009B '\( _
] D-137 D-154-15 E
s SD-oosRc@ IB-414KBC




DRIFT PACKAGE

DATE / /
Y—Fv i
B B 014> k7 079 kR7
B @ O7RX7Z7ILs O3dvou—k  OAh—Xwhb
RERR 075w bk Ot E—
Osn @ OEL

SETTING SHEET »v»>

W7 0O NERED

R—=ILTT FCD

C7)L=% (SD-501SAA)

ODvo4 (D021)  [FP77 (D-1508) #AL#[ |

(e (SD-501DS) R—=ILTT 0.76f&(D-143)
C7)L=% (SD-501DA) [DvozA-VUwk 0.76f&(D-144)
YUy R7I R [(R—ILFTT 0.88f&(D-145)
(ISR (SD-5018A8) [DvoIAVUwk 0.88f&(D-146)

BXFrUuvsJovy

COkL—JLO (SD-4158)

[ID-MAXA (8D-415DS)
OOr7++2X5—2JOvIA (D-121)
OF>JE>7>2)L 10E (SD-415510)
CF>JEYT7V )L 128 (SD-415512)
O7IL=A7—LFH 70— 0E (D-152-0)
O7I=A7—LER 70— 7E (D-152-7)

W70 M RT7—LMUE
[ Jomx[Jn

WY R 7 —LER
LI/ =~
(SD-008H)
OI2774 b~
(SD-008HG)
UA7—L 7Ib=
(D-137)

B+t A= (

EZF (

<FRONT

B70OY kRIL=TI\A b

FOVANYTREY FERATHE L

| pupg 2Ry
VI~ ]

e OE

EEAIN|
L2rUdr (YS-8DMH)
O7vsxdA (YS-8HD)
[EX 2]

L1y 2se 38

T [YavIvv TN

/—<)b
O OF4>3—k
)
] [0UVY - H5—]
= 54T
@Q O7)L— (YS-7HG)
@.{M@ OoU7— (YS-79)
S =
= 1+ (BD-S2BfFEA)
= [Jes (BD-S2WiER)
=)
=) TR TU ]
=/ ( )

D yueen

()

14

]
W Tvr—zan |

mm

BA7—L. Y3avIuE

HO7” FvR5— JOvY

©

o O,

= o)

0 7°(D-122)
(2 Z=) 0100-123)
N =
J [0 12°(D-124) BT
mJOY b A D
WOV v Y- )
EE Y
WoOVhFp25—f [ ]
BoOY RFRTYY R WyFU—

WoOYV AP UVI IRA4—=)b

W70V hRYESAH—
0# ( ) O

WUz b (O MD

L e )

e S &

Il @ cC

[¢]

S

[¢]



RS )\—

OXU K~

BU7/\TF+vU7

BY7YR7—LME

_H_BBXD%

WY R7— L8

LI/ =~
(SD-008H)

092774~
(SD-008HG)

Wy 75
#7577 (0-1508) Z4IL#| |

R—ILF
[fsEd (SD-501DS)
7)U=% (SD-501DA)

[(HafEs (SD-5018AS)
[07)L=% (SD-501SAA)

\
FcD  \ ‘\k/ s FCD

[J1.3f& (D-087) [11.8f& (D-089)
1.5 (D-048) O 25 (b-051)

E7ON

MESC

E—iR

BE—5—

X 2.35 = FL (

«® W7A7—L. YavIuE
o SETT I O] 2
——— |
< 2= et L
NG :

®
«»

BU7 RIL=TN\A

[RR> ]
0s [

(oS E)]

BU7 b—FA

R AN
U3 (YS-8DMH)
O7wvsxIdA (YS-8HD)

BU75Av. UV, k1=

MUPRIESAH—
[ ( ) O

Euzob (U7

= R ]
" Oix Der Osn
Y3y sYP TN
O/ —=b
- OF4>a—k
=)
= [OUY5 - 75—
S \ 54T
@Q 07— (YS-7HG)
@Whu (o U7— (YS-79)
S 4
= 14 (BD-S2BfEF)
— (24 (BD-S2WiER)
=
= T RIUv)
— ( )
@ A mm

)

L
,_.“Q“ gUN—FA| ]

2015.01



IJE BREY R b

1REUE

itimE
el #\) MTRETIL
EYT E—=23vT TIH
el HBIIIRC H—Fv
18J1Ir GUMP FACTORY
aRm S VRAME hashiriba
ARRM AUBrhE
ARRM RC¥3vJ Y—+v k Do
EEL| R MRE—=X
ERHM KE—=2avT 99+
EREHM S5¥3>Y 3w Friends
g REDL\DhEE
FIFET SV oRE
k=g H.R.C
JIRIm RE—ravI yvy=
AR () 74— LREY
ALIRH ZR—YikE—
ALIET OHM YA UY—Fw
AL JOE
ALIgm BHAEHEE SR
LR WEABERR ()
ALIRT NRAY—ZX—h
WL BIRFRSHE—
=G (B) MWETIL SIS
=G RU—LkE—
SV JILTFY—Fv
RigRET SYIVEPE A
blAZh Ovo 2R
BlaN] IBRARELE
HRIRT 1Uysy
et TIWAY—Fv b
et RE—>3 v T AIVARE
BHEs T FIREE
HEEh J—VRITT
S HfeDTH
SIRED RE—=/I\DRF
aHR
AFFIE  REYERER
LA H,\VU%E
BVSEET  JLAARE
BLSEE]  BIGD
BHM ARA TRER
AVli] SO SERIREE
AV=l:i} RC ¥ 3w~ T-ONE
EFR
—Bah TSEDIFY
=01 RE—=23vT &&&
B KRSV
BN SRS ITHER
BEm RE=TSA L
B RE—ZT L7 [CUIL
BEfET T7I7—Xv b
bt FAUAVINSETAR
SR
SEHET RCY3vT7 IFV LA
SEEHET KE—=YavT <SABD
& IREUEZER
ia™ 77 —2A MREY
ia™ FHLSIER
ia™ fiaRE
s RE—Y3vT L5 LA
s T7U54 ML=
toiEl] D-RANGE
MER
BAT SYAVINIR
AT RC AX—2Z #58H
AT E—23vT K2
BfAER A —hRT—Y
#Fm DSP.YOKOTE
1T}
ESopn) (B) /IRZEE
iz YRFETIVSYAVEYS—
KR RE—Y3avT &40
KEMH Rolling Park Nakano
AR DRC
#HER
=EENT  BEIY—Fv b
Wb 7A - T7=lb- IR
[Ateky;:) Trvyavil—JEEE
WhE (B) LWhEER
[Ateky;) KE—YavT YJ
WDE S5Y3dy Za—-3—-0
B DIWIN=DA VT
BRLLT d1=)\—=9)L
BBl SYAVY—F vk )&k
LT MRC Factory
BEm gEP
[elh SYIAVY—Fv kIR
FETIER TOYs U4 b
RN
o< IETH ILTVETIL
DL IETH AEB7U—F
OlebhT BES Y IVEE
bzl PSAT—IR
=M RE=YavIT AFLS
i REVS=ut
+iEm SYIVKE LTEE
KPP RC SV REY RU—
[ =hvas) ZERE—
BE v UG YRZ#Z7O—R/I\—=2
SR 1=/)8—2R
& INRFNAVAT s
=] (#) RE v OBFE HaE
HEARR
AT T A FHEE
FHEm EvIkE—
FHET FHERE—Ivvy
FEEM RE—Yv v J- speed
FHEH RE—Y3 w7 GP-1
FEET IYF2T7 TUS7LY—Fv
= 25—k~

RC 3w 7950

0166-48-7725
0166-33-9126
090-4025-4867
0166-63-4556
0133-64-3107
0126-26-3435
0126-26-6044
0155-32-2623
0167-23-2817
0167-44-3415
0154-22-1659
0154-22-2269
0154-64-5965
011-384-9387
011-821-1367
011-773-5090
011-879-5381
011-851-2741
011-763-2767
011-682-2351
011-771-3862
0155-35-2834
0144-32-3673
0144-52-1811
0144-32-9900
01537-2-4085
0157-22-5501
0157-23-2867
01565-22-1560
0138-77-1223
0138-49-3080
0138-64-0371
0123-36-1577
0143-47-1177
0123-88-3017

0173-35-6551
0172-35-1442
0178-52-2554
0176-52-56300
017-773-5160
0178-20-9192
0178-44-2980

0191-23-5791
0193-62-3431
0197-23-6722
0197-25-4129
019-654-1130
019-641-2580
019-635-2475
0197-63-7898

0224-58-1351
022-353-9196
022-274-0665
022-254-7081
022-372-1818
022-261-3489
022-771-9322
022-393-5260
090-5237-5691

0186-22-0105
018-835-4055
018-832-3006
0184-23-5133
0182-33-5151

0237-86-2961
023-644-7378
0238-21-4912
023-653-5009
0273-43-6016

0242-27-0921
0246-83-2457
0246-44-3311
0246-22-6414
0246-34-0710
0246-62-2409
024-943-8700
024-973-6951
024-973-5388
024-983-6315
024-522-5497
024-573-5121
0248-23-5489

029-854-8533
029-836-0914
029-272-0038
0296-22-5444
0296-44-3563
0299-93-1402
029-824-8581
029-259-6171
0294-36-0077
0297-62-4343
0299-37-6620
0296-32-5876
0280-30-5116

0285-53-0851
028-659-9000
0284-43-6644
028-667-9922
028-667-6348
028-666-3000
0285-83-5617
0285-24-1588

BER

cLeEm
[R5yl

TI—RhA

~ Ry I 2FHYF
RE— -4 - hZ— RETE
hE—Y3v T 7Y
Za)bPUR

RE— - hE— TRBE
ARG LEFIV

RE—N\DZFvY R
F7UTIbEY RCIN—2
D=V RI v L=
enRoute FUJIOKA
JUA N RE—RY A

mE—=Y3 v T 5 L5 LKEE
A —=XikE—

SEED

ReE—YavT EUY

RC-| U Q.u,\ud,\

)A: KE— FHEELZAE
RE=Y3vTTTEL

m_um_mD WAY PAL
BOSSL—vvY
RE—Y3wvT ZXF
RC UA—X
TSAN—RNGL—
(B) YMEH
ERA—h—EZ
FrYAY—Fv b
RCS =4 b+
AHARE—
O5TRROTT
Fine Factory
SYIY A—F RS V5 —IE
FASTER
YLSAY—Fv b
JU—VN\—=2

# hobby

#\) IXT7AY—
KE—=Y3vT HhOOF
kv J7 5 — RENFGE
AREA 33
ME—Y3vT By b1y
SYAvvavT RUAK
F—bAL—Y A

RC RH U7 s #is i
BUIRE

77 F1EE
INML=IL—Ly h=bDF3D
SYIVKE FTEHHES
RE—Y 3y ITY LY LTFRIE
75 ) IERIBPIE
BIREE

FILTRE—

RC - HIROBA
FRELYv—352 R HHIE
RC-€/3vo ZEN
Neo RC Drift Stage
RRE

%) tFBRKRE—YavT

RC 7 RIA Y —F v+ > T RERE

TYI\EEHRRT
Z2—=\—5IV MERE
RUTRTYIR

& LY ©AHERIE

RC Y—Fw h holFAR—2
TOTIAY

SPIRAL

RC build shop 1)L
h—ik— LI+ =TS
RC /\D X CHAMP
L=V INSHA4R

RC Car Proshop SHIFT

RC \—U#ERIAIE
WARU U —=v
KN-YOKOHAMA
Passion Yokohama
N—=h5V R
IIRNRE

RC oahu
EFIWX=—bEILIYT
4 2I\Z i-box

._._ml\m w7 5 L5 L\ EREE

RC 7 RN\AY'— F v 27 1BIERE

HOBBY SHOP ARMS
RCY¥av7 byTTx—RKA,
M Atsugi Racing

GY—Fv b

oA VILEFIL
RE—Y3vT HaE
Vv )\—2 B
SLIDE WAY

RC T RIEM
IS5FF

WABET AR BRE
TUeE REE
BHEE2DE I\
Ny IRAU ~
RE—Y3v T RS
YOZYIZRCHY—Fv b
SYRUY—Fv D

RUFY Y—Fv b
—Yiky I

I

0287-74-2706

0277-22-2017
027-363-7272
0277-76-6463
027-233-8320
027-266-9840
027-233-6054
027-252-7048
027-393-3322
0274-67-1922
0274-50-8688
0270-75-5933

048-688-9666
048-682-1044
048-566-1515
048-983-0964
080-4879-2231
0480-87-0432
048-965-6036
048-422-1812
04-2947-0421
048-470-2755
049-247-2020
049-225-8998
049-290-6289
048-925-1737
042-962-6201
04-2926-6474
048-953-1848
048-745-2026
049-293-8099
0495-72-8234
0480-76-3366
048-467-8430
048-501-7156
090-4369-8674
0495-35-11562
048-582-2238
049-258-3398
090-1600-5387

0436-20-8855
0476-42-2901

0476-37-6840
0476-95-6062
0439-55-2053
0478-73-6356
0479-73-5441

0438-75-8880
0475-76-7234
047-364-6334
047-392-7776
043-261-9030
043-204-2626
047-425-2034
0475-562-4419
0475-22-3939
0475-47-2169
0471-20-3535
047-100-8728
047-192-8469
0479-62-05645

03-3253-0635
03-5807-5239
03-3255-9984
03-5688-1414
03-3865-6009
03-5816-5667
03-6314-2720
03-3893-0883
03-5398-4007
03-3960-2823
03-5921-2820
042-549-1553
042-788-3900
042-513-9080

044-870-3335
045-590-6231

045-593-9402
045-335-5121

046-848-7125
046-854-7721

044-863-7868
044-988-0370
044-822-3864
0463-87-0353
0467-44-3070
042-756-3477
042-752-2727
042-703-8318
0466-47-2708
046-240-6581

046-281-7688
0467-38-5988

055-233-2727
055-240-1122
055-267-6231
0555-72-9339

026-217-0443
0262-84-6969
0265-48-5218
0263-32-3903
0263-78-3842
0263-71-56519
0266-52-3287
0266-41-2729
026-253-4735

090-9749-4881
025-234-3533

HTEm

RE—O—R YA V5D UiE
Heat

KE—r3avT JIEY ~
EOFvY - AE—RU A
VIVAEEL

HIEEIREL FRIE
=HYI—VY BHEFIBE
HIFELIEE BEE

F v VEF VERIRE
IS EAREL IS

VA URE—
E—2avT @
FYATETIL
Ey ~DY BILEE
Ey ~DY BREE

LLIFZAREY

F—HORE

() FAVRE—&EH
LHEE By hDY BHAE
TFITUR

RC </ 37 mini one

&) HA

RE—Y3vTH LY I\ RS
#) 7y bk

KUTRAF-YESZy Y%y b Fr7

KE—> 3 v 7 BIGMAN
Sy avikE— TOMO
KE—avT EFF
RAK—L

HOT LAP

77—k €0O

TSIV

I—01429
RUTRD—JL R

(B) BAHER

(B) RIWVBVETA
RE=SY R gHNE
4F¢\4._n K&

BKEREY Y —

RIRRE

Y3—bAavh

NIFZRE—

RV UIREY

BOY HOOD

RE—YavZ Ovovz—J
AIR DREAMS RC

Full Cross

SYIAVKE BEEE
Abh—hE—try—
BEETIV BEEE
MODEL KIDS

PP A

&1 H—18E =AE
FvImE—

YA H—RE —ZE
S3¥325)(—k FUNFUN
DIIN—=Z b—
Z2E—R

DA—I LY RkE—
F-1RE—
FYURRE— RC &

RE—Yav T L5 L ZEHEE

FHNIRUT
LSEESTA

TR
~aATRE—
Y=—SYRY—Fv N5
L¥EE 7oO0Z8)E
FAEISYIV

RU—LSY R A&
Edzvo

TEAM TETSUJIN

Syavh—d-—

SYAVH-OE Y+
TRS

FAEENE

SAM SPEED WAY
RCFvEFY

IVRAIREY

REDE Fvr T
SYAVKEKRZEE
SYIVR BHE
Hyde-Out

EHREE

IRE—S Y RREB E2E
L—YVIP9—EZAIVER
2 avT H#FD
MECCA

S5UCAE RETE

TS5y MRE
fehMfeICHREY
REDHT—2R
PRO SPEED Kizu
i
SYIVKE FHEE
MU=y

Al —Fv b

Z—\—3 I3 KIREAHEE
RE - RE—DE [FFo&

025-281-2686
025-378-8558
0258-32-9025
0258-25-3122
0257-22-4093

076-298-9591
076-251-1031
076-262-2006
076-242-3316
0761-22-8935

076-471-2225
076-455-0185
076-493-0058
076-495-9101
0766-25-6003

0778-23-2915
0776-35-6013
0776-23-5484
0776-54-6800
0776-89-1367
0776-66-3201

0778-34-2075

058-240-1212
058-393-2491
058-240-6228
058-245-7563
0572-68-9260
0572-55-7177
0572-57-2121
0584-91-3090
058-320-4321
0577-33-0864
0574-66-8600
0585-45-0774

0550-82-3040
055-972-1932
0537-86-6827
055-962-5048
055-924-3010
054-626-2211
054-253-6361
0543-67-0238
053-471-8858
053-421-3599
053-586-3141
0544-27-7270
0545-53-7722
055-997-3373
0537-72-2766
054-631-4882

052-698-3751
052-732-2631
052-733-4409
052-351-7160
052-621-0124
0566-77-6735
0566-98-2330
0586-81-2797
0586-81-1500
0564-23-3353
0564-26-6667
0566-22-7725
0568-76-7838
0568-26-2151
0568-27-2777
0566-91-6095
0563-54-3666
0532-31-5769
0533-86-2779
0533-87-3596
0533-83-5511
0565-52-4412
0562-97-3647
0568-83-1400
0568-29-7528
052-893-9437

0593-78-9012
0598-56-7388
0593-51-2611
059-349-3636
059-262-4567
059-234-2488

077-525-94056
077-545-7648
077-543-3355
090-2705-8883
0749-62-1462
077-567-3055
077-561-8806
0740-22-2457
0748-86-4192
050-5802-8733

075-781-7220
075-592-1598
075-432-2865
0774-73-0206
0774-52-2415
0772-62-7556
0773-64-5243
0771-22-6755

06-6644-3139
06-6913-1231




RC7 RIAY—F v T

06-6702-8870

PN LB A—/\—F v XS5 R AE 06-6634-0041
BEm RC-ART 0726-28-2991
BEm Syavy3av7 MST 072-648-5613
Bixm TOP GEAR BiEiE 072-432-7715
R RCY=Z7vIRT7U—F 0725-53-3013
RER
pliizpye] RI L 0790-42-5224
=Hm SYIVKE =HIE 079-553-9559
=AM TOY land-park =& 0794-86-7535
A BRAMSA b Y—Fv ME 078-994-2194
AT B & 078-924-3000
#AEM RE—YavT FLILBIY v VI—THEE
078-414-4305
P RC./{—% BeeTops 0795-22-7776
TREERER Y.R.C 0791-52-5847
il FEJRE— 0792-32-5897
REM PRI VHERE 0790-62-0375
=RIR
&8 LB EXSEEFYASYR 0743-78-1971
Fheh RC ¥ 3 v 7 N\ EKRFEE 0745-83-0314
AFIEBILT  EHEE FvISUR 0743-59-2221
AHBLLT  AFRE— 0743-59-2167
AMEET ¥ L—yrvd TJOYIvIY 0745-53-7027
EEATIES
[22bulyy FHevigs 0739-24-6598
Ikl (%) BABIEERC £y — 073-445-9058
FFLm S5 51EE 073-422-7930
LT HR.C.R 073-477-5658
REIR
BEm Ay—hE— 0857-31-2878
B F—hOI—T Tx—35LAh 0875-53-5886
KFM E—Y3vT I—R 0859-33-4354
KFH BBIF SRR 0859-32-5919
KFH SYAVKE KFIE 0859-27-5630
KFh () HHEEE 0859-27-4879
BRR
HE BB EDIRE 0853-21-0459
I NZPiREY 0852-21-5571
T
L JYVETIV ELE 086-264-2269
L BRI 086-252-3905
LT RC POWER ON 086-297-7522
s RCavT7 XU KL 0863-31-4100
i TGM Factory 0868-27-2091
Al MUK IF/ 0868-22-9227
HEEM PANES 0867-54-0311
S Droo-P 0865-66-4563
fiEmum RC PROSHOP T2 0869-92-4220
LER
B Iy RE— 0823-23-0977
LEm BEDDE» 0828-12-2679
RLEM SYAVKE RLEE 082-430-9150
RGBT iKE—< 3w Pony 0824-22-4466
Fi=IN ) w|UsvavtEyy— 0849-21-7505
Ei=1G ) 533 shop SVFIC 084-934-1990
(1] m )
EEm VAN 0827-22-4823
FEBH #B) Lvy 0836-32-9221
FERH WEy3vI FAA 0836-43-1800
REAH SYIVKE TEE 083-250-5523
At TEARRY 0834-25-4970
B SYIAVKE BLE 0834-31-9597
BARFH EEREE 0835-22-1908
o TIARE— 0839-23-1208
EER
pIET™ EvIETIV 0884-22-8080
IR SYAVKE BEE 0884-21-2828
meh JUw\—&T 088-623-5653
NVHAET BIG+ 35YIvy—Fvr&¥3v7 0885-35-7708
=H)IH ELEX 0883-24-9540
R
Rl L=y 087-841-6271
S KE=TSY yH7Y 087-866-2003
IS0 =RV h—tV5— 087-885-7311
AT RC Shop Crawlers 087-867-0727
=& I=PA RUVT PRV T—T 0875-73-3558
=II18T KE—t>%— SPKE 087-879-8445
BER
Siath SiatREL 0898-31-4015
i =41 089-977-7651
AR F—=I\—Y— T3E 089-971-2323
AT RCyavr VZIvy 089-970-9337
bil=ray] KE—>3avT JES 0897-33-1309
ESidil TEHLEEY 0898-65-4791
JAV: il E—r3vTHE 0894-29-1755
SR
vl EFIVVavT FA S 088-833-4331
AEm TEREE 088-863-2249

JEHIN

BEET )L S
URAS(1—52X)
RE—SYREES

F-1 iR—LY—Fv
FRAREY
SUPER-DUCK COMPANY
K2 Factory
JCEFIISY
SYIVKE @RS
@[ R/C I7S5Y
Jorvyo
Z—=N\=35I0 #2E
RC MONSTER
BIEETIV

T ILAEE

BRI EHEE

092-472-3411
092-504-5550
092-864-7508
093-293-2445
0942-22-3225
0942-44-6600
0930-25-2117
0944-52-4822
092-503-5640
092-953-3283
092-953-6537
092-434-7878
092-481-2975
093-592-6636
093-603-6348
090-7460-2781

LN
Jeumi
FUREFT

=E|E
HHIZED

RIFR
iR
RIBH

RIEH
AT

Uk
ERBR
EEREH

BREM
N

RAZI-Land
EAMRI RS —F—F v
RE—Y3vT F L5 L FEEE

EF5—X K BIBPE
A—VvV A—h3UR
MAX CIRCUIT
MODEL MART

iy

RE—Y3avT DIRSY
RC HOUSE Boys Heart
ORCC HOBBY

D-Like
DIRAMRIITY
RE—Y3vTVFTF
ZEPHYR

SYIVKE FEARE
Garage Al |
RCR&YF 2AvF

RC 7—JLU R USA [&
78 AE—RD A
STEP UP

REIN
W5ERCY—Fv b
RC SHOP STEP ONE

SYIVEKE SEE (MHC)
TILI A 188

RCR

T=ILRZAT—RIZ b
Y-STYLE

ERE Y—% v b
RE—YV)\F 7
K's ikE—

093-533-2161
093-561-6614
092-919-0120

0952-23-0228
0952-51-0390
095-297-9951
0952-55-7788

0956-23-6294
095-855-0840
095-818-2010
080-8380-6019

096-248-8008
0964-42-7711
0968-44-7287
096-292-8640
096-389-9005
096-388-3992
096-284-8113

0978-33-2728
097-522-7878
097-568-3000
097-527-75630
097-560-1871
0978-34-4716

0983-42-4781
0986-24-4589
080-5240-8875
0987-32-1899
0983-32-3819

099-238-4050
099-223-8136

0996-25-1133
098-943-1846
098-897-2191

1 BER
M
AMLET
#Fh

IR

JBHEM
KR

0 EBR

EREMT
BRI

0 RIR
At
0 AR
NITL
0 BER

PO
B

0 HER
T
HEET
1XBT

0 FER
FEED
HED
i

0 R=E
s

0 #RIR

AT0O—/\v - EEEIHERS
4 I0O—/\v b HLIREIRE
A IO—/\v b X85

A4TO—/\v ~ —BiiE
A—I\—F— b~y IR EErEE

A=\—=F— by I Z lig)b— 45
F— I\ O Z IAERE
H—Fvo g

A=\—=F =Ny I Z AIERIE
AT0—/\v b SHEE
TrA4v7OIII b

ATO—/\v ~ tIGE
A ITO—/\v I~ KBHE
AI0—/\v b #FE

A=y O Z EHE
Fd— by I ZAKRIE

A—I\—F— Iy I R KRENE
A—\—=F—=hrI\y O Z BILFEE

FAVNIR LIELEA/ME

A—)\—=F— )\ I Z LS

F— by IR REIGE
SRY—IA VI VREEEE

2—)\—F—K)\y U X TODA
A I0—/\v b XEE
F—bO3Th

ZA—=N\—F— by IR FERBE
A—=N\=F—=hrI\y I HAFRE
F—bNyIZ £IN\VHE D UDERE

F— by IR BI\EHFE

A=I\=F =PIy IR BRI YA R
A—=\—F— Iy IR BEFRE
A=/\=F=N Y IR BEHBEHELE
CAR MAKE T&E

A—=I\=F— b\ IR EXIE

0138-34-2800
011-883-3221
01266-2-4424

0191-31-3680
019-638-8763

022-232-2345
022-277-4726
022-247-3452
022-374-1131
0228-22-8255
0224-55-2645

018-857-0202
0187-86-0122
0182-35-7077

0234-24-8602
0238-26-2242

0242-24-0456
024-945-3356

0299-22-4880

0285-28-6688

0270-26-4100
0276-86-6556

048-424-0189
0495-24-0377
0489-93-1980

043-424-8561
047-308-5400
04-7190-0070

03-3334-0301

045-791-5111
045-840-0189
045-640-6601
045-944-2221
046-248-0331

BEEH Y1 PY3vT By hi— 0427-58-6691
g Z—IF =M HA hDEEE  044-223-4774
FigH 2—I\—F— Ry IR HEFEE 0463-54-9555
0 RN
FRm Z—I\—F— NIy o FBNRE 025-274-8765
M 2—-I—F—ryo2 EEE ~ 0258-25-9180
TS
R Z—I\—F—F\y o2 BRE 0552252155
5T F— M\ o2 SRS 0551-23-2666
B7ITRM S PEEILTA 055-283-7220
N REFR
BEH S PEATATY 026-223-2002
0 EXHEIS 0268-71-2677
ERET F— RNy & 2 SRR 0265-21-1655
EAB A TO—/\Y MEEFRE 0267-32-1680
N IR
I Z——F— Yo EEE ~ 058-274-9871
AT ABC HOUSE 0574-62-8848
0 RS
=g F— RNy o2 ZBE 055-977-2295
R 1I0—/\v + BLEEEE 0545-63-5522
o 2R
fil=0yi R—=)\—=F—bI\v IR BREE 0563-53-0033
tEsRh  EoFiEse 0568-24-1222
W EER
=2 Z—I\—F— Iy o #EEE ~ 077-563-6663
I F—bINy o2 )\BfE 0748-23-5677
REm S PA-FURR 0749-63-2632
PN
A 2—N—F—FRyoR WHIE ~ 0726-73-9377
AR L+/JOR 06-6747-3451
R CENTRAL/BOSS 072-337-1000
0 RER
o F— YR BER/ B 078-685-6877
A A=N\—F—MwI2 YUy v/ U#F 078-435-6006
Bl Z—/\—F—I\y &R 43 EERE 06-6413-0500
1R 2—I\—F—FIyH2Z MBEE  0792-51-0117
o ER
st BT () 0866-93-3560
" was
HEH Z—I\—F— Ny LRETEYS— 082-270-2111
EEH 1IO—N\y ~ SEE 0827-22-0105
AR YA VAT BRiIE 0835-25-8205
" AR
il 2——F—FyoR EFE  0736-62-7650
HHEE no—%x 0737-52-2439
o EmR
AT Z—)\—F— My SR ATESE 093-591-5623
el URAS(1—52) 092-504-5550
0 2—I\—F— Iy o RiEAE ~ 092-621-7021
BRiFT 4 — by I REREFE 0948-28-2622
BRIFT (#) 1—2pI—RL—Y3Y 914 P—& 0948-72-5017
KRBT A—/\—F— My IR ABE=%)IIE 092-503-8686
M A—\—A—NAvHR AEKE ~ 094248-3558
FEIE  TOFvo 092-953-6537
" AR
HEA 2—)\—F— N\ EAR/ANZ  096-384-6466
fEA ROA R U= 096-223-2169
NEE AITUR N1 F— NESH 0967-46-6776
EZ3:] £~ 3y 7 Ravish 0968-57-8730
0 ERR
= 2—/{—F— Iy o BEEE ~ 0985-54-2321
" ERER
BEm F—r\YOR EEE 0994-41-1212

17 5—2y MElR

=REEJIV—T DI)UU  http//www.rakuten.ne.jp/gold/welc/
WE/JU FU34v23 w7 http//www.monocolle.com/
W RC Maniax Web STORE  http://www.rcmxstore.com/
WRUSIFUJ  http://www.drc-king.com/
W HOT - RC STORE http://www.hotrcstore.jp/
WRE—3v 770 http://yokomo.shop-pro.jp/
M Top Gear http://topgear-web.com
W5« 7d2F4—= HKEDL http://hobbycom.jp/
WitD%E @shop http://item.rakuten.co.jp/mori-miyako/c/0000002504/

BAROAFHEHLEESIT - - -

BEL DIRRECTEROAFHRA LB ESBIERTZTHATEOV.
BERFTOHILNG. EICREEXDHEEBRZITMOECREZTI
SHENBOET . RICREZXDEGF. TEXSNDEROEETEEIC
HEBE (8%) LXK ¥324 (BmOEETREEN ¥5,000 L EDIZEISHE
) ZNELCRESENGHERE (QEES 00110-6-365564) (T
TTEXTEL. BRIIBMOBICREZZILIEE}, 1V5—Ruh
TPYIRICTTEX TSN (BILWFHRDBEENDDEY).
BHUAHDRIERES. AR, Y8, SBROTEM. SR, B
EBESEUNTTIRATEL,

EERFTEE(F A —IL7 RUR  order@teamyokomo.com
BIEIRFER{T FAX 03-5613-7552 (3 JE&EHRER)

BHRLAHFITE - PII—Y—ERABET




aAS A MANUFACTURER OF WORLD LHAMPIONSHIP WINNINY

]

YO LD

ENJOY THI

S PRODUCT KNOWING THAT YOU ARE DRIVING ONE OF THE BEST HANDLING R/L CARS EVER DESIGNED.

A SO YEEELENGE

OKOMO

www.teamyokomoicom

RN IS5 K YOKOMO
ITERRZA R/C A— (SYFIY hO—)LA—) DFFIX—H—TT. ZORRBIE. LEFEFE. SKEFE I—0v/EFE
ZUT R/C A—L—ADREETHHHFEFIEL — A THER. 7D R/C A—VY=FICEATNTVET,

H#XSt ITJE T 120-0005 RREPEILX#EFE 5-23-7 TEL 03-5613-7553 FAX 03-5613-7552 =EHEEHE : 9~ 126K - 1315~ 17 (MEHZRB~%)




